**BID OPENING DATE: BID OPENING LOCATION:** TABULATION BY: **TABULATION DATE:** LJA JOB NO.

BIDDER'S NAME

1) HARRIS CONSTRUCTION COMPANY, LLC

ROADWAY CONSTRUCTION TO SERVE SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY SIENNA MUNICIPAL UTILITY DISTRICT NO. 5 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS MAY 10, 2024 LJA ENGINEERING, INC. C CORTEZ MAY 13, 2024 1415-0200 (9.2)

inee

TOTAL AMOUNT BID

BID INCLUDING ALTERNATE BID NO. 1 - SIENNA VILLAGE BID INCLUDING ALTERNATE BID NO. 2 - SIENNA VILLAGE OF DESTREHAN SECTION 1\_SIENNA PARKWAY

OF DESTREHAN SECTION 1\_SIENNA PARKWAY

\$2,149,863.40

\$2,321,700.10

SCOTT FRANKOVIC

\$2,162,137.45

CALENDAR DAYS 90/120

I, SCOTT FRANKOVICH, P.E., hereby certify these bid tabulations to be true and correct.

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

> PER CY MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.

ROADWAY CONSTRUCTION TO SERVE SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY SIENNA MUNICIPAL UTILITY DISTRICT NO. 5 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS MAY 10, 2024 LJA ENGINEERING, INC. C CORTEZ MAY 13, 2024 1415-0200 (9.2)

				1) HARRIS CONSTRUCT	ON COMPANY, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
SIENNA VILLA	AGE OF DESTREHAN SECTION 1_SIENNA PARKWAY (SMUD 5)				
NORTHI INCLUD MATERI (AS DIRI PLACEN (MINIMU	E AND DISPOSE OF CONCRETE PAVEMENT ALONG SIENNA PARKWAY, BOUND LANES ALONG ROUNDABOUT, NORTH OF PLAT BOUNDARY, ES FULL DEPTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL AL OFFSITE, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL ECTED BY THE GEOTECHNICAL ENGINEER)AND OFFSITE DISPOSAL, MENT AND COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, JM 2 SACKS PER CY MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, HIGH EARLY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN	SY	264	\$261.15	\$88,943.60
SIENNA ALONG DISPOS UNSUIT. OFFSITI SAND FI CONCRI	E AND DISPOSE OF CONCRETE PAVEMENT ALONG INTERSECTION OF PARKWAY ROUNDABOUT AND MOUNT LOGAN, NORTHBOUND LANES ROUNDABOUT, INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER AL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF ABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER)AND E DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED OR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8° ETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY S, COMPLETE IN PLACE.	SY	838	\$261,15	\$218,843.70
ON SIEM DEPTH: INCLUDE GEOTEC COMPAI PER CY	E AND DISPOSE OF CONCRETE PAVEMENT NORTHBOUND OUTER LANE NA PARKWAY, 30 FT NORTH OF LIGHT POLE #703227, INCLUDES FULL SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, SES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE CHNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND CTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACK MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.		9	\$261.15	<b>\$2,35</b> 0.35
ON SIEM DEPTH: INCLUDE GEOTEC COMPAC PER CY	E AND DISPOSE OF CONCRETE PAVEMENT BOTH NORTHBOUND LANES NA PARKWAY, 95' NORTH OF LIGHT POLE #703227, INCLUDES FULL SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, ES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE CHNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND CTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACK MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.			\$261.15	\$6,267.60
ON SIEM CURB, A EXCAVA ENGINE STABILII PLACEM	E AND DISPOSE OF CONCRETE PAVÉMENT NORTHBOUND BOTH LANES NA PARKWAY, AT LIGHT POLE #703226, INCLUDES FULL DEPTH SAWCUT AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER ATION OF INSUITABLE WATERIAL (AS DIRECTED BY THE GEOTECHNICAL ER)AND OFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMEN ZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND MENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL SARY DOWELS, COMPLETE IN PLACE.	Т	128	\$261.15	\$33,427.20
ON SIEM DEPTH S INCLUDI GEOTEC COMPA	E AND DISPOSE OF CONCRETE PAVEMENT NORTHBOUND BOTH LANES NA PARKWAY, 35 FT SOUTH OF LIGHT POLE #703225, INCLUDES FULL SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, ES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE CHNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND CTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACK		56	\$261.15	\$14,624.40

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. ROADWAY CONSTRUCTION TO SERVE
SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MAY 10, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 13, 2024
1415-0200 (9.2)

			1)	HARRIS CONSTRUCTION	COMPANT, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST T	OTAL COST	
ON SIENI DEPTH S INCLUDE GEOTEC COMPAC PER CY I	AND DISPOSE OF CONCRETE PAVEMENT NORTHBOUND OUTER LANE NA PARKWAY, 55 FT NORTH OF LIGHT POLE #703225, INCLUDES FULL KAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, SOVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE HNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND STION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH NCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	20	\$261.15	\$5,223.00	1nG.
ON SIENI DEPTH S INCLUDE GEOTEC COMPAC PER CY I	AND DISPOSE OF CONCRETE PAVEMENT BOTH NORTHBOUND LANES NA PARKWAY, 100 FT SOUTH OF LIGHT POLE #703224, INCLUDES FULL AWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, IS OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE HNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND ITTON OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH NCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	58	\$261.15	\$14,624.40	00,
OB SIENI DEPTH S INCLUDE GEOTEC COMPAC PER CY I	AND DISPOSE OF CONCRETE PAVEMENT BOTH SOUTHBOUND LANES NA PARKWAY, 5 FT SOUTH OF LIGHT POLE #703224, INCLUDES FULL AWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, IS OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE HNICAL ENGINEER]AND OFFSITE DISPOSAL, PLACEMENT AND THOUGH ENGINEER]AND OFFSITE DISPOSAL, PLACEMENT AND THOUGH STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH NCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	9	\$261.15	\$2,350.35	
ON SIENI DEPTH S INCLUDE GEOTEC COMPAC PER CY I	AND DISPOSE OF CONCRETE PAVEMENT BOTH SOUTHBOUND LANES NA PARKWAY, 75 FT SOUTH OF LIGHT POLE #703224, INCLUDES FULL AWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, SOVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE HNICAL ENGINEER) AND OFFSITE DISPOSAL, PLACEMENT AND TION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH NCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	80	\$261,15	\$20,892.00	
ON SIENI DEPTH S INCLUDE GEOTECI COMPAC PER CY N	AND DISPOSE OF CONCRETE PAVEMENT BOTH SOUTHBOUND LANES NA PARKWAY, 100 FT NORTH OF LIGHT POLE #703225, INCLUDES FULL AWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, SOVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE HNICAL ENGINEER) AND OFFSITE DISPOSAL, PLACEMENT AND TION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS MIX), AND PLACEMENT OF 8° CONCRETE PAVEMENT, 7-SACK, HIGH NCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	56	\$261.15	\$14,624.40	
ON SIENI DEPTH S INCLUDE GEOTECI COMPAC PER CY N	AND DISPOSE OF CONCRETE PAVEMENT BOTH SOUTHBOUND LANES NA PARKWAY, 130 FT SOUTH OF LIGHT POLE #703225, INCLUDES FULL AWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, S OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE HNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND LITION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, "SACK, HIGH NCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	56	\$281.15	\$14,624.40	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: **TABULATION DATE:** LJA JOB NO.

ROADWAY CONSTRUCTION TO SERVE SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY SIENNA MUNICIPAL UTILITY DISTRICT NO. 5 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS MAY 10, 2024 LJA ENGINEERING, INC. C CORTEZ MAY 13, 2024 1415-0200 (9.2)

1) HARRIS CONSTRUCTION COMPANY, LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
ON SIENNA PARK SIENNA PARKWA' PROPER DISPOS' OF UNSUITABLE N ENGINEER)AND ( STABILIZED SAND PLACEMENT OF 8	POSE OF CONCRETE PAVEMENT BOTH SOUTHBOUND LANES WAY, 45 FT NORTH OF LIGHT POLE #703226, ACROSS FROM '5 YEREET SIGN, INCLUDES FULL DEPTH SAWCUT, CURB, AND L OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION IATERIAL (AS DIRECTED BY THE GEOTECHNICAL IFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE. (MINIMUM 2 SACKS PER CY MIX), AND 'CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	17	\$261.15	\$4,439.55
ON SIENNA PARK DEPTH SAWCUT, INCLUDES OVER GEOTECHNICAL E COMPACTION OF PER CY MIX), AND	POSE OF CONCRETE PAVEMENT BOTH SOUTHBOUND LANES WAY, 65 FT NORTH OF LIGHT POLE #703227, INCLUDES FULL SURB, AND PROPER DISPOSAL OF ALL MATERIAL, OFFSITE, EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE NGINEERJAND OFFSITE DISPOSAL, PLACEMENT AND CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH & ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	162	\$261.15	\$42,306.30
ROUNDABOUT, NO INCLUDES FULL D MATERIAL OFFSI (AS DIRECTED BY PLACEMENT AND (MINIMUM 2 SACK	POSE OF CONCRETE PAVEMENT ALONG SIENNA PARKWAY ORTH SIDE OF ROUNDABOUT AT LIGHT POLE #703227, EPTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL E, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL THE GEOTECHNICAL ENGINEER) AND OFFSITE DISPOSAL, COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, B PER CY MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, LY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN	SY	19	\$261.15	\$4,961.85
ON SIENNA PARK SAWCUT, CURB, A OVER EXCAVATIO GEOTECHNICAL E COMPACTION OF PER CY MIX), AND	POSE OF CONCRETE PAVEMENT OUTER SOUTHBOUND LANE VAY, EAST OF LIGHT POLE #703227, INCLUDES FULL DEPTH ND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES N OF UNSUITABLE MATERIAL (AS DIRECTED BY THE NGINEER) AND OFFSITE DISPOSAL, PLACEMENT AND SEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH SALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY		\$261.15	\$3,394.95
PARKWAY ROUND FULL DEPTH SAW OFFSITE, INCLUDI DIRECTED BY THE PLACEMENT AND (MINIMUM 2 SACK	POSE OF CONCRETE PAVEMENT ALONG EAST SIDE OF SIENNA ABOUT, SOUTHBOUND LANES OF ROUNDABOUT, INCLUDES JUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL IS OVER EXCANATION OF UNSUITABLE MATERIAL (AS GEOTECHNICAL ENGINEER)AND OFFSITE DISPOSAL, COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, B PER CY MIX), AND PLACEMENT OF 8° CONCRETE PAVEMENT, LY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN	SY	1229	\$261.15	\$320,953.35
OF SIENNA PARKI INCLUDES FULL D MATERIAL OFFSIT (AS DIRECTED BY PLACEMENT AND (MINIMUM 2 SACK)	POSE OF CONCRETE PAVEMENT SOUTHBOUND LANES, SOUTH PAY ROUNDABOUT, 25 FT NORTH OF PLAT BOUNDARY, 2PTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL E, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL THE GEOTECHNICAL ENGINEER, AND OFFSITE DISPOSAL, COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, 3 PER CY MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, LY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN	SY	70	\$261.15	\$18,280.50

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

ROADWAY CONSTRUCTION TO SERVE
SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MAY 10, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 13, 2024
1415-0200 (9.2)

			1)	HARRIS CONSTRUCTIO	IN COMPANY, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
	REPAIR EXISTING BIRDBATH EASTBOUND ALONG MOUNT LOGAN, 190 FT WEST OF MOUNT LOGAN AND PARISH PARK INTERSECTION, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	REPAIR EXISTING BIRDBATH OUTER SOUTHBOUND LANE, ON SIENNA PARKWAY, AT LIGHT POLE #703227, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	REPAIR EXISTING BIRDBATH NORTHBOUND OUTER LANE ON SIENNA PARKWAY, 35 FT NORTH OF PLAT BOUNDARY, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	REPAIR EXISTING BIRDBATH SOUTHBOUND OUTER LANE ON SIENNA PARKWAY, AT PLAT BOUNDARY, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	REPAIR EXISTING BIRDBATH NORTHBOUND OUTER LANE, EAST OF ROUNDABOUT, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	REPAIR EXISTING BIRDBATH SOUTHBOUND OUTER LANE, EAST OF ROUNDABOUT, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030 00
	REPAIR EXISTING BIRDBATH SOUTHBOUND OUTER LANE ON SIENNA PARKWAY, 135 FT SOUTH OF LIGHT POLE #703226, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	REPAIR EXISTING BIRDBATH SOUTHBOUND OUTER LANE ON SIENNA PARKWAY, 80 FT SOUTH OF LIGHT POLE #703226, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	REPAIR EXISTING BIRDBATH SOUTHBOUND OUTER LANE ON SIENNA PARKWAY, 25 FT SOUTH OF LIGHT POLE #703228, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	REPAIR EXISTING BIRDBATH SOUTHBOUND OUTER LANE ON SIENNA PARKWAY, 15 FT NORTH OF LIGHT POLE #703226, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	REPAIR EXISTING BIRDBATH NORTHBOUND OUTER LANE ON SIENNA PARKWAY, AT LIGHT POLE #703225, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	REPAIR EXISTING BIRDBATH NORTHBOUND OUTER LANE ON SIENNA PARKWAY, 80 FT NORTH OF LIGHT POLE \$703226, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	REPAIR EXISTING BIRDBATH NORTHBOUND OUTER LANE ON SIENNA PARKWAY, 35' SOUTH OF LIGHT POLE #703228, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

ROADWAY CONSTRUCTION TO SERVE
SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MAY 10, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 13, 2024
1415-0200 (9.2)

				) HARRIS CONSTRUCTION	OUNTAINT, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
32	REPAIR EXISTING BIRDBATH NORTHBOUND OUTER LANE ON SIENNA PARKWAY, 80 FT SOUTH OF LIGHT POLE #703226, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101,50	\$2,030.00
33	6" OR 4" X 18" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	651	\$15.25	\$9,927.75
34	REPAIR INLET TOP, COMPLETE IN PLACE.	EA	6	\$3,625.00	\$21,750.00
35	INSTALL RAISED PAVEMENT MARKINGS (THROUGHOUT ROADWAY), AS PER APPROVED TRAFFIC CONTROL PLAN	LS	1	\$18,525.00	\$18,525.00
36	RE-STRIPE ALL PAVEMENT (THROUGHOUT ROADWAY) WITH APPROVED CITY OF MISSOURI CITY THERMAL PAINT, AS PER APPROVED TRAFFIC CONTROL PLAN	LS	1	\$20,250.00	\$20,250.00
37	CLEAN AND SEAL EXPANSION JOINTS (THROUGHOUT ROADWAY) WITH MASTIC, OR APPROVED EQUAL, COMPLETE IN PLACE.	LS	1	\$14,795.00	\$14,795.00
38	SEAL SURFACE CRACKS THROUGHOUT ROADWAY, BY INJECTABLE METHOD, PRODUCT TO BE TXDOT APPROVED SEALANT, CONTRACTOR TO SUBMIT PRODUCT FOR ENGINEER APPROVAL, (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	1000	\$48.50	\$48,500.00
39	FORT BEND COUNTY INSPECTION AND ACCEPTANCE FEE, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00
40	FORT BEND COUNTY RIGHT OF WAY PERMIT, COMPLETE IN PLACE	EA	1	\$4,200,00	\$4,200.00
41	CORING OF PAVEMENT IN AREAS WHERE APPROVED FORT BEND COUNTY SEALING METHODS WERE USED BY THE CONTRACTOR, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA		\$1,500.00	\$1,500.00
42	TEMPORARY TRAFFIC CONTROL FOR PHASE I CONSTRUCTION ALONG SIENNA PARKWAY, AS PER ATTACHED LAYOUT, INCLUDES ELECTRONIC SIGNAGE DURING CONSTRUCTION AND INCLUDING 2 WEEKS PRIOR TO CONSTRUCTION, SIGNAGE, BARRELS, FLAGMEN, STEEL PLATES, ETC. AND ALL OTHER APPURTENANCES NECESSARY TO COMPLETE PHASE I REPAIR WORK, COMPLETE IN PLACE	LS	9	\$24,250,00	\$24,250.00
43	TEMPORARY TRAFFIC CONTROL FOR PHASE 2 CONSTRUCTION ALONG SIENNA PARKWAY, AS PER ATTACHED LAYOUT, INCLUDES ELECTRONIC SIGNAGE DURING CONSTRUCTION AND INCLUDING 2 WEEKS PRIOR TO CONSTRUCTION, SIGNAGE, BARRELS, FLAGMEN, STEEL PLATES, ETC. AND ALL OTHER APPURTENANCES NECESSARY TO COMPLETE PHASE 2 REPAIR WORK, COMPLETE IN PLACE	Ls	1	\$35,195.00	\$35,195.00
44	TEMPORARY TRAFFIC CONTROL FOR PHASE 3 CONSTRUCTION ALONG SIENNA PARKWAY, AS PER ATTACHED LAYOUT, INCLUDES ELECTRONIC SIGNAGE DURING CONSTRUCTION AND INCLUDING 2 WEEKS PRIOR TO CONSTRUCTION, SIGNAGE, BARRELS, FLAGMEN, STEEL PLATES, ETC. AND ALL OTHER APPURTENANCES NECESSARY TO COMPLETE PHASE 3 REPAIR WORK, COMPLETE IN PLACE	LS	1	\$37,350.00	\$37,350.00
45	REMOVE AND DISPOSE OF EXISTING 6" CONCRETE CURB AND MEDIAN IN ORDER TO CONSTRUCT TEMPORARY DETOUR PAVEMENT AS SHOWN IN NOTE 6 OF THE PHASE 2 TRAFFIC CONTROL LAYOUT, INCLUDES REMOVAL OF BRICK PAVERS AND ALL OTHER APPURTENANCES IN ORDER TO CONSTRUCT DETOUR PAVEMENT, COMPLETE IN PLACE	LS	1	\$9,395.00	\$9,395.00
46	TEMPORARY DETOUR PAVEMENT, AS PER TXDOT SPECIFICATION ITEM 3076 AND SHOWN ON NOTE 8 OF PHASE 2 TRAFFIC CONTROL LAYOUT, COMPLETE IN PLACE	SY	250	\$142.00	\$35,500,00

**BID OPENING DATE:** BID OPENING LOCATION: **TABULATION BY:** TABULATION DATE: LJA JOB NO.

ROADWAY CONSTRUCTION TO SERVE SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY SIENNA MUNICIPAL UTILITY DISTRICT NO. 5 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS MAY 10, 2024 LJA ENGINEERING, INC. C CORTEZ MAY 13, 2024 1415-0200 (9.2)

1) HARRIS CONSTRUCTION COMPANY, LLC

			.,				
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST		
47	RESTORATION OF MEDIAN AND 6° CONCRETE CURB AFTER COMPLETION OF PHASE 2 REPAIRS ON THE ROUNDABOUT AT MOUNT LOGAN AND SIENNA PARKWAY, CONTRACTOR TO RESTORE TO EXISTING CONDITIONS OR BETTER, INCLUDES RESTORATION OF 6° CURB, MEDIAN, AND BRICK PAVERS, PACIFIC CLAY: BEAR PATH 25/8° HEAVY VEHICULAR PAVERS OR APPROVED EQUAL, AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	LS	1	\$75,585.00	\$75,585.00		1.0G
48	REMOVE AND DISPOSE OF EXISTING 6" CONCRETE CURB AND MEDIAN IN ORDER TO CONSTRUCT TEMPORARY DETOUR PAVEMENT AS SHOWN IN NOTE 6 OF THE PHASE 3 TRAFFIC CONTROL LAYOUT, INCLUDES REMOVAL OF BRICK PAVERS AND ALL OTHER APPURTENANCES IN ORDER TO CONSTRUCT DETOUR PAVEMENT, COMPLETE IN PLACE	LS	- 1	\$9,395.00	\$9,395.00		
49	TEMPORARY DETOUR PAVEMENT, AS PER TXDOT SPECIFICATION ITEM 3076 AND SHOWN ON NOTE 8 OF PHASE 3 TRAFFIC CONTROL LAYOUT, COMPLETE IN PLACE	SY	150	\$142.00	\$21,300.00	~ (C)	
50	RESTORATION OF MEDIAN AND 8" CONCRETE CURB AFTER COMPLETION OF PHASE 3 REPAIRS ON THE ROUNDABOUT AT MOUNT LOGAN AND SIENNA PARKWAY, CONTRACTOR TO RESTORE TO EXISTING CONDITIONS OR BETTER, INCLUDES RESTORATION OF 6" CURB, MEDIAN, AND BRICK PAVERS, PACIFIC CLAY: BEAR PATH 2 5/8" HEAVY VEHICULAR PAVERS OR APPROVED EQUAL, AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	LS	1	\$75,585.00	\$75,585.00		
51	REPAIR AND RESTORE ALL LANDSCAPE AND IRRIGATION AFFECTED BY CONSTRUCTION AND OR SITE MODIFICATIONS, CONTRACTOR SHALL USE GREENYARD INC., (CONTACT: AMY HOYT; 979.398.2698) TO PERFORM ALL DUTIES RELATED TO THIS TASK AND THE MINIMUM UNIT PRICE PROVIDED ON THE BID FORM, LANDSCAPE AND IRRIGATION WORK INCLUDES (A) CUT AND CAP ALL IRRIGATION LINES AND REMOVAL OF TREES, SHRUBS AND GROUND COVER WITHIN L.O.C. PRIOR TO CONSTRUCTION, (B) INSTALLATION OF NEW SHRUBS/GROUND COVERS AND (C) INSTALLATION OF IRRIGATION NEEDED TO PROVIDE COMPLETE COVERAGE, NOTE: CONTRACTOR IS RESPONSIBLE FOR REMOVING ALL CONSTRUCTION DEBRIS AND INITIAL GRADING NECESSARY TO BRING AFFECTED AREAS WITHIN 1º OF FINAL GRADE BEFORE TURNING OVER SITE TO LANDSCAPE CONTRACTOR, COMPLETE IN PLACE	LS		\$188,462.00	\$188,462.00		
52	5' WIDE ROUNDABOUT MOUNTABLE CURB, INCLUDING PACIFIC CLAY; BEAR PATH 2 5/8" HEAVY VEHICULAR PAVERS OR APPROVED EQUAL, COLOR TO BE DETERMINED BY DEVELOPER, 6" CURB & GUTTER AND 4" X 18" CURB, COMPLETE IN PLACE	SY	230	\$675.00	\$155,250.00		
SIEN	NA VILLAGE OF DESTREHAN SECTION 1_SIENNA PARKWAY (SMUD 5) SUBTOTAL:				\$1,648,766.65		
	NA VILLAGE OF DESTREHAN SECTION 1_SIENNA PARKWAY BRIDGE (SPMUD 5)				, ,		
	REMOVE AND DISPOSE OF CONCRETE PAVEMENT ON SIENNA PARKWAY, NORTHBOUND LANE, AT PLAT BOUNDARY, INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	12	\$261.15	\$3,133.80		

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. ROADWAY CONSTRUCTION TO SERVE
SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MAY 10, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 13, 2024
1415-0200 (9.2)

			1)	HARRIS CONSTRUCTION	COMPANY, LLC
IT	EM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
	2 REMOVE AND DISPOSE OF CONCRETE PAVEMENT, OUTER SOUTHBOUND LANE ON SIENNA PARKWAY, 30 FT SOUTH OF 1ST INLET PAIR INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	16	\$261.15	\$4,178.40
	3 REMOVE AND DISPOSE OF CONCRETE PAVEMENT OUTER SOUTHBOUND LANE ON SIENNA PARKWAY, 20 FT NORTH OF SIENNA PARKWAY BRIDGE AT STA 25+50, INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER/AND OFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8° CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	9	\$261.15	\$2,350.35
	4 REMOVE AND DISPOSE OF CONCRETE PAVEMENT BOTH SOUTHBOUND LANES ON SIENNA PARKWAY BRIDGE, LAST PANEL OF BRIDGE AT STA 22+25, INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	93	\$1,105.55	\$102,816.15
	5 REMOVE AND DISPOSE OF CONCRETE PAVEMENT NORTHBOUND BOTH LANES ON SIENNA PARKWAY BRIDGE, FIRST PANEL OF BRIDGE AT STA 22+25, INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8° CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	93	\$1,105,55	\$102,816.15
	6 REMOVE AND DISPOSE OF CONCRETE PAVEMENT NORTHBOUND BOTH LANES ON SIENNA PARKWAY BRIDGE, LAST PANEL OF BRIDGE, INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER) AND OFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8° CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	93	\$1,105.55	\$102,816.15
	7 REPAIR EXISTING BIRDBATH EASTBOUND ON SIENNA PARKWAY, AT PLAT BOUNDARY, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$101.50	\$2,030.00
	8 6" OR 4" X 18" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3	\$15.25	\$45.75
	9 INSTALL RAISED PAVEMENT MARKINGS (THROUGHOUT ROADWAY), AS PER APPROVED TRAFFIC CONTROL PLAN	LS	1	\$7,250.00	\$7,250.00
	10 RE-STRIPE ALL PAVEMENT (THROUGHOUT ROADWAY) WITH APPROVED CITY OF MISSOURI CITY THERMAL PAINT, AS PER APPROVED TRAFFIC CONTROL PLAN	LS	1_	\$7,950.00	\$7,950.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. ROADWAY CONSTRUCTION TO SERVE
SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MAY 10, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 13, 2024
1415-0200 (9,2)

11	HARRIS	CONSTRUCTION COMPANY LLC.	

				1) HARRIS CONSTRUCT	ION COMPANY, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
	EXPANSION JOINTS (THROUGHOUT ROADWAY) WITH MASTIC, QUAL, COMPLETE IN PLACE.	LS	1	\$8,235,00	\$8,235.00
PRODUCT TO BE	RACKS THROUGHOUT ROADWAY, BY INJECTABLE METHOD, TXDOT APPROVED SEALANT, CONTRACTOR TO SUBMIT NGINEER APPROVAL, (TO BE COMPLETED AT THE DIRECTION R)	LF	500	\$48.55	\$24,275.00
13 FORT BEND COU	NTY INSPECTION AND ACCEPTANCE FEE, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00
14 FORT BEND COUL	NTY RIGHT OF WAY PERMIT, COMPLETE IN PLACE	EA	1	\$4,200.00	\$4,200.00
	MENT IN AREAS WHERE APPROVED FORT BEND COUNTY DS WERE USED BY THE CONTRACTOR, AS DIRECTED BY THE PLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00
CONSTRUCTION / SOUTH OF THE BI AMY HOYT; 979.35 THE MINIMUM UN IRRIGATION WOR REMOVAL OF TRE CONSTRUCTION, INSTALLATION OF NOTE: CONTRACT DEBRIS AND INITI	TORE ALL LANDSCAPE AND IRRIGATION AFFECTED BY AND OR SITE MODIFICATIONS IN ALONG SIENNA PARKWAY RIDGE, CONTRACTOR SHALL USE GREENYARD INC., (CONTACT: 88.2898) TO PERFORM ALL DUTIES RELATED TO THIS TASK AND IT PRICE PROVIDED ON THE BID FORM, LANDSCAPE AND K INCLUDES (A) CUT AND CAP ALL IRRITATION LINES AND ESS, SHRUBS AND GROUND COVER WITHIN L.O. C. PRIOR TO (B) INSTALLATION OF NEW SHRUBS/GROUND COVERS AND (C) FIRRIGATION NEEDED TO PROVIDE COMPLETE COVERAGE. TOR IS RESPONSIBLE FOR REMOVING ALL CONSTRUCTION AND AL GRADING NECESSARY TO BRING AFFECTED AREAS WITHIN DE BEFORE TURNING OVER SITE TO LANDSCAPE CONTRACTOR, ACE			\$125,000.00	\$125,000.00
	STREHAN SECTION 1_SIENNA PARKWAY BRIDGE (SPMUD 5) SU SIENNA VILLAGE OF DESTREHAN SECTION 1 SIENNA PARKWA				\$501,096.75
1 REMOVE AND DIS LOGAN, 190 FT W INCLUDES FULL I MATERIAL OFFSI (AS DIRECTED BY PLACEMENT AND (MINIMUM 2 SACK	SPOSE OF CONCRETE PAVEMENT EASTBOUND ALONG MOUNT EST OF MOUNT LOGAN AND PARISH PARK INTERSECTION, SET OF MOUNT LOGAN AND PARISH PARK INTERSECTION, SEPTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL TE, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL THE GEOTECHNICAL ENGINEER AND OFFSITE DISPOSAL, COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, SPER CY MIX), AND PLACEMENT OF 8° CONCRETE PAVEMENT, RLY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN		g	\$261.15	\$12,274.05
ON SIENNA PARK CURB, AND PROP EXCAVATION OF ENGINEER, AND STABILIZED SAND	SPOSE OF CONCRETE PAVEMENT OUTER SOUTHBOUND LANE WAY, AT LIGHTPOLE #703227, INCLUDES FULL DEPTH SAWCUT, ER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER UNSUITABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL DEFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT A FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND		47	\$261.15	\$12,274.05

PLACEMENT OF 8° CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL

NECESSARY DOWELS, COMPLETE IN PLACE.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. ROADWAY CONSTRUCTION TO SERVE
SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MAY 10, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 13, 2024
1415-0200 (9.2)

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST T	OTAL COST		
ON SIE DEPTH INCLUD GEOTE COMPA PER CY	YE AND DISPOSE OF CONCRETE PAVEMENT NORTHBOUND OUTER LANE NNA PARKWAY, 35 FT NORTH OF PLAT BOUNDARY, INCLUDES FULL SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, DES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE CHNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND CITION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS 'MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	47	\$261.15	\$12,274.05		100
ON SIEI CURB, A EXCAVA ENGINE STABIL PLACEA	YE AND DISPOSE OF CONCRETE PAVEMENT SOUTHBOUND OUTER LANE NNA PARKWAY, AT PLAT BOUNDARY, INCLUDES FULL DEPTH SAWCUT, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER ATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ZERJAND OFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT IZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND MENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL SARY DOWELS, COMPLETE IN PLACE.	SY	47	\$261.15	\$12,274.05	0	
EAST O DISPOS UNSUIT OFFSIT SAND F CONCR	TE AND DISPOSE OF CONCRETE PAVEMENT NORTHBOUND OUTER LANE, IF ROUNDABOUT, INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER SAL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF ABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER)AND E DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8° LETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY S, COMPLETE IN PLACE.	SY	47	\$261,15	\$12,274.05		
EAST O DISPOS UNSUIT OFFSIT SAND F CONCR	TE AND DISPOSE OF CONCRETE PAVEMENT SOUTHBOUND OUTER LANE, OF ROUNDABOUT, INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER SAL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF ABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER)AND E DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED OR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8" IETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY S, COMPLETE IN PLACE.	SY	47	\$261,15	\$12,274.05		
ON SIEI DEPTH INCLUD GEOTE COMPA PER CY	E AND DISPOSE OF CONCRETE PAVEMENT SOUTHBOUND OUTER LANE NA PARKWAY, 135 FT SOUTH OF LIGHT POLE #703226, INCLUDES FULL SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, DES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE CHNICAL ENGINEER/AND OFFSITE DISPOSAL, PLACEMENT AND CTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS MIX), AND PLACEMENT OF 8 CONCRETE PAVEMENT, 7-SACK, HIGH INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	У	47	\$261.15	\$12,274.05		
ON SIEI DEPTH INCLUD GEOTEI COMPA PER CY	E AND DISPOSE OF CONCRETE PAVEMENT SOUTHBOUND OUTER LANE NAA PARKWAY, 80 FT SOUTH OF LIGHTPOLE #703228, INCLUDES FULL SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, IES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE CHNICAL ENGINEER/AND OFFSITE DISPOSAL, PLACEMENT AND COTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS MIX), AND PLACEMENT OF 8° CONCRETE PAVEMENT, 7-SACK, HIGH INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.	SY	47	\$261,15	\$12,274.05		

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. ROADWAY CONSTRUCTION TO SERVE
SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MAY 10, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 13, 2024
1415-0200 (9.2)

1) HARRIS CONSTRUCTION COMPANY, LLC

EM DESC	RIPTION	UNIT	QTY (	JNIT COST TO	OTAL COST		
9 REMOVE AND DISPOSE OF CONCRETE I ON SIENNA PARKWAY, 25 FT SOUTH OF DEPTH SAWCUT, CURB, AND PROPER D	PAVEMENT SOUTHBOUND OUTER LANE LIGHT POLE #703226, INCLUDES FULL	SY	47	\$261.15	\$12,274.05		
GEOTECHNICAL ENGINEER)AND OFFSI	TE DISPOSAL, PLACEMENT AND SAND FOR SUBGRADE, (MINIMUM 2 SACKS DICRETE PAVEMENT, 7-SACK, HIGH						VC
GEOTECHNICAL ENGINEER)AND OFFSI	LIGHT POLE #703226, INCLUDES FULL ISPOSAL OF ALL MATERIAL OFFSITE, ITABLE MATERIAL (AS DIRECTED BY THE TE DISPOSAL, PLACEMENT AND SAND FOR SUBGRADE, (MINIMUM 2 SACKS DICRETE PAVEMENT, 7-SACK, HIGH	SY	47	\$261.15	\$12,274.05	(0)	
ON SIENNA PARKWAY, AT LIGHTPOLE # CURB, AND PROPER DISPOSAL OF ALL I EXCAVATION OF UNSUITABLE MATERIA ENGINEERJAND OFFSITE DISPOSAL, PL STABILIZED SAND FOR SUBGRADE, (MIN	L (AS DIRECTED BY THE GEOTECHNICAL ACEMENT AND COMPACTION OF CEMENT HIMUM 2 SACKS PER CY MIX), AND NT, 7-SACK, HIGH EARLY, INCLUDING ALL	SY	47	\$261.15	\$12,274.05		
ON SIENNA PARKWAY, 80 FT NORTH OF DEPTH SAWCUT, CURB, AND PROPER D NCLUDES OVER EXCAVATION OF UNSU GEOTECHNICAL ENGINEER)AND OFFSI	ISPOSAL OF ALL MATERIAL OFFSITE, ITABLE MATERIAL (AS DIRECTED BY THE IE DISPOSAL, PLACEMENT AND SAND FOR SUBGRADE, (MINIMUM 2 SACKS) INCRETE PAVEMENT, 7-SACK, HIGH	SY	47	\$261,15	\$12,274.05		
GEOTECHNICAL ENGINEER)AND OFFSI	LIGHT POLE #703226, INCLUDES FULL ISPOSAL OF ALL MATERIAL OFFSITE, ITABLE MATERIAL (AS DIRECTED BY THE ITE DISPOSAL, PLACEMENT AND ISAND FOR SUBGRADE, (MINIMUM 2 SACKS INCRETE PAVEMENT, 7-SACK, HIGH	SY	47	\$261.15	\$12,274 05		
GEOTECHNICAL ENGINEER)AND OFFSI	LIGHTPOLE #703226, INCLUDES FULL ISPOSAL OF ALL MATERIAL OFFSITE, ITABLE MATERIAL (AS DIRECTED BY THE IED ISPOSAL, PLACEMENT AND SAND FOR SUBGRADE, (MINIMUM 2 SACKS INCRETE PAVEMENT, 7-SACK, HIGH	SY	47	\$261.15	\$12,274.05		

ALTERNATE BID NO. 1 - SIENNA VILLAGE OF DESTREHAN SECTION 1\_SIENNA PARKWA'

\$171,836.70

BID OPENING DATE: **BID OPENING LOCATION:** TABULATION BY: **TABULATION DATE:** LJA JOB NO.

ITEM

ROADWAY CONSTRUCTION TO SERVE SIENNA VILLAGE OF DESTREHAN SECTION 1 - ADJACENT SIENNA PARKWAY SIENNA MUNICIPAL UTILITY DISTRICT NO. 5 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS MAY 10, 2024 LJA ENGINEERING, INC. C CORTEZ MAY 13, 2024 1415-0200 (9.2)

TOTAL COST

1) HARRIS CONSTRUCTION COMPANY, LLC

DESCRIPTION ALTERNATE BID NO. 2 - SIENNA VILLAGE OF DESTREHAN SECTION 1\_SIENNA PARKWAY

1 REMOVE AND DISPOSE OF CONCRETE PAVEMENT EASTBOUND ON SIENNA PARKWAY, AT PLAT BOUNDARY, INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER)AND OFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.

47 \$261.15 \$12,274.05

UNIT COST

UNIT

SY

QTY

ALTERNATE BID NO. 2 - SIENNA VILLAGE OF DESTREHAN SECTION 1\_SIENNA PARKWAY

**BIDDING SUMMARY** 

SUBTOTAL SIENNA VILLAGE OF DESTREHAN SECTION 1\_SIENNA PARKWAY (SMUD 5) SUBTOTAL SIENNA VILLAGE OF DESTREHAN SECTION 1\_SIENNA PARKWAY BRIDGE (SPI **TOTAL AMOUNT BASE BID** 

ALTERNATE BID NO. 1 - SIENNA VILLAGE OF DESTREHAN SECTION 1 SIENNA PARKWAY TOTAL AMOUNT BASE BID

SUBTOTAL ALTERNATE BID NO. 1 - SIENNA VILLAGE OF DESTREHAN SECTION 1 SIENNA TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 1 - SIENNA VILLAGE OF DESTREHAN S

ALTERNATE BID NO. 2 - SIENNA VILLAGE OF DESTREHAN SECTION 1 SIENNA PARKWAY **TOTAL AMOUNT BASE BID** 

SUBTOTAL ALTERNATE BID NO. 2 - SIENNA VILLAGE OF DESTREHAN SECTION 1\_SIENNA TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 2 - SIENNA VILLAGE OF DESTREHAN S \$12,274.05

\$1,648,766.65 \$501,096,75

\$2,149,863.40

\$2,149,863.40 \$171,836.70 \$2,321,700.10

\$2,149,863,40 \$12,274.05

\$2,162,137.45